
1

2 3 4

5

10

7

8

Aufbauanleitung 			    Assembly instructions 		  Instructions de montage 	
Istruzioni di montaggio 		   Instrucciones de montaje 		 Montage-instructies

6

9

to-sync work 
mesh white pro / mesh black task + pro / comfort task + pro 

trendoffice.com



to-sync work 
mesh white pro / mesh black pro / comfort pro

trendoffice.com

Lieferumfang
1x Verpackung
5x Rollen 
1x Fußkreuz
1x Gasfeder
1x Baugruppe Sitz-Mechanik

1x Armlehnen Links
1x Armlehnen Rechts
2x Klemmschraube Armlehnen (M 8)
1x Rückenlehne 
1x Klemmschraube Rückenlehnen (M10)

Items supplied
1x packaging
5x castors 
1x base
1x gas unit
1x seat mechanism module

1x left armrest
1x right armrest
2x clamping screw for armrests (M8)
1x backrest 
1x clamping screw for backrest (M10)

Étendue de la livraison
1x emballage
5x roulettes 
1x piétement étoile
1x vérin à gaz
1x module de mécanisme d’assise

1x accoudoir gauche
1x accoudoir droite
2x vis de serrage accoudoirs (M 8)
1x dossier 
1x vis de serrage dossier (M 10)

Leveringsomvang
1x verpakking
5x wielen 
1x voetenkruis
1x gasveer
1x module zitmechaniek

1x armleuning links
1x armleuning rechts
2x klembout armleuningen (M8)
1x rugleuning 
1x klembout rugleuning (M10)

Fornitura
1x Imballaggio
5x Ruote 
1x Base
1x Ammortizzatore di sicurezza
1x Gruppo elementi meccanismo di seduta

1x Bracciolo sx.
1x Bracciolo dx.
2x Viti di serraggio braccioli (M 8)
1x Schienale 
1x Vite di serraggio schienale (M 8)

Volumen de entrega
1x embalaje
5x ruedas 
1x base de cinco radios
1x resorte de gas
1x módulo mecanismo de asiento

1x apoyabrazos izquierdo
1x apoyabrazos derecho
2x tornillos de sujeción para los apoyabrazos (M 8)
1x respaldo 
1x tornillo de sujeción para el respaldo (M 10)


